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PROFESSIONAL EXAMINATION
BOARD

Group­05 Pharmacist, Lab technician
and other equivalents post
Recruitment Test ­2017
15th April 2017 09:00 AM  

Topic:­ General Studies

Choose appropriate articles for the given sentence:

Learn ______ new skill every six months to take out ______ boredom of repetitive work.

1. a, the

2. the, a

3. an, the

4. an, a

Correct Answer :­

a, the

1. 

2. 

3. 

4. 

Correct Answer :­

One of these is a modification to save water. Identify? / जल को बचाने के िलए इनम┼ से एक
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One of these is a modification to save water. Identify? / जल को बचाने के िलए इनम┼ से एक
╜पांतरण है। पहचािनए?

1. Cactus spine / नागफनी शूल (कै۵ टस Ā पाइन)

2. Thorn / कंटक (╩ोन)

3. Potato tuber / आलू कंद (पौटेटो ℮ूबेर)

4. Runner / वाहक

Correct Answer :­

Cactus spine / नागफनी शूल (कै۵ टस Ā पाइन)

Choose the correct form of tense for the given sentence:

The celebrity’s latest movie is very entertaining. I ______ it.

1. have recommended

2. recommend

3. am recommending

4. will have been recommending

Correct Answer :­

recommend

Which city was chosen for the BRICS Labour & Employment Ministerial Meet in 2016?  / वष└ 2016 म┼
िनگ न म┼ से कौन सा शहर ि█۵ स ▓म एवं रोजगार मं╨ालय बैठक के िलए चुना गया है?

1. Bengaluru / ब┼गलू╛

2. Chennai / चेپ नई

3. New Delhi /  नई िदی ली

4. Mumbai / मंुबई

Correct Answer :­

New Delhi /  नई िदی ली

Choose the appropriate prepositions for the given sentence:

I'll use my cell phone when I'm ______ the bus, but never while I'm ___ the car.

1. to, in

2. on, in
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3. out, off

4. at, in

Correct Answer :­

on, in

Choose the correct form of tense for the given sentence:

The chapattis ______ like rubber.

1. are tasting

2. have tasted

3. taste

4. has tasted

Correct Answer :­

taste

1. 

2. 

3. 

4. 

Correct Answer :­

'िकतने पािकּהान' नामक उपРास के लेखक ह╒?

1. राजेД कुमार

2. कमलेקर

3. सέ ▀काश िम▓

4. खुशवЋ िसंह
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Correct Answer :­

कमलेקर

The following question is based on an encryption system in which / िनђ ▀ע एक एंि╡چशन ▀णाली
पर आधाδरत है िजसम┼

I am hungry is coded as Ching Ling Lu /  I am hungry को  Ching Ling Lu से कोिडत िकया जाता है
I eat fruits is coded as Ling Li Mon /  I eat fruits को  Ling Li Mon से कोिडत िकया जाता है
I am thirsty is coded as Lu Su Ling /  I am thirsty को  Lu Su Ling से कोिडत िकया जाता है
 

What is the code word for I? / I के िलये कोड शо ℓा है?

1. Ling

2. Ching

3. Lu

4. Li

Correct Answer :­

Ling

Complete the sentence choosing the right option:

It is usually ______ lava but gas that kills people during volcanic eruption.

1. not only

2. not

3. neither

4. no

Correct Answer :­

not

The value of 15p­5­24p­11+ 9 is _________________. / 15p­5­24p­11+ 9 का मान
_________________ है।

1. ­9p – 7

2. ­9p + 25

3. 9p + 7

4. 9p – 25

Correct Answer :­
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­9p – 7

Who was the founder of Ramakrishna Mission? / रामकृ韎� िमशन के सं𐀆थापक कौन थे?

1. Swami Vivekananda / ּתामी िववेकानंद

2. Ramakrishna Paramahamsa / रामकृ� परमहंस

3. Keshab Chandra / केशव चं╪

4. Dayananda Saraswathi / दयानंद सरּתती

Correct Answer :­

Swami Vivekananda / ּתामी िववेकानंद

िकस रस का संचारी भाव उ╣ता, गव└, हष└ आिद है?

1. ╝ंगार (▓ंृगार)

2. वीर

3. वाγׂ

4. रौ╪

Correct Answer :­

वीर

Choose the correct form of expression to complete the sentence:

The new manager is doing his best to raise ______ in the office.

1. amount

2. dust

3. funds

4. hopes

Correct Answer :­

funds

िनђिलεखत म┼ से वाℓ के शुο ╜प का चयन कीिजये।

1. भारत म┼ अनेक जाित ह╒।

2. भारत म┼ अनेको ंजाित ह╒।

3. भारत म┼ अनेको ंजाितयाँ ह╒।

भारत म┼ अनेक जाितयाँ है।
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4. भारत म┼ अनेक जाितयाँ है।

Correct Answer :­

भारत म┼ अनेको ंजाितयाँ ह╒।

If the horizontal distance between two poles of height 20m and 28m is15m, find the distance
between their heights. / यिद 20 मी एवं 28 मी ऊँचाई वाले दो खјो ंके बीच की āैितज दूरी 15 मी है, तो
उनकी ऊँचाइयो ंके बीच का अंतर ŵात कर┼ ।

1. 11m / 11 मी

2. 15m / 15 मी

3. 13m / 13 मी

4. 17m / 17 मी

Correct Answer :­

17m / 17 मी

An inflated balloon rubbed with a synthe⨀c cloth gets stuck to the wall. The force ac⨀ng on
it is ___________/ एक फूला ╟आ गुтारा एक कृि╨म कपड़े के साथ रगड़ने पर दीवार म┼ धंस जाता
है। उस पर ि╡याशील शε♣ है ___________|

1. Gravita⪜�onal force / गु╜βाकष└ण बल

2. Electrosta⪜�c force / εĀथर वैद्यु त बल

3. Muscular force / मांसपेशीय बल

4. Magne⪜�c force / चंुबकीय बल

Correct Answer :­

Electrosta⪜�c force / εĀथर वैद्यु त बल

Sonam observed that the lime water turned milky when air was blown into it. This is
because air contains _______. / सोनम ने देखा िक जब चूने के पानी म┼ हवा ▀वािहत ╟ई तो वह
दूिधया हो गया। यह इसिलए है ℓोिंक हवा म┼ _______ शािमल है।

1. Nitrogen gas / नाइट├ ोजन गैस

2. Carbon dioxide gas /   काब└न डाइऑċाइड गैस

3. Oxygen gas / ऑċीजन गैस

4. Nitrogen dioxide / नाइट├ ोजन डाइऑċाइड

Correct Answer :­

काब└न डाइऑċाइड गैस
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Carbon dioxide gas /   काब└न डाइऑċाइड गैस

जीवन म┼ हाּק का मह𐀆 व इसिलए है िक, वह जीवन को ___________|

1. ▀योग देता है

2. आनεГत करता है

3. आगे बढ़ाता है

4. सरस बनाता है

Correct Answer :­

सरस बनाता है

Sathiyan Gnanasekaran is associated to which sports? / सतीयन ŵानसेकरन िकस खेल से
संबंिधत ह╒?

1. Tennis / टेिनस

2. Table Tennis / टेबल टेिनस

3. Chess / शतरंज

4. Badminton / बैडिमंटन

Correct Answer :­

Table Tennis / टेबल टेिनस

A train crosses a man in 5 sec and a bridge of length 300 m in 20 sec. Find the speed and length of
the train. / एक रेलगाड़ी एक יε♣ को 5 सेकΏ म┼ और 300 मी लंबाई के एक पुल को 20 सेकΏ म┼ पार
करती है। रेलगाड़ी की चाल और लंबाई िनकािलये।

1. 20 m/s, 100 m / 20 मी/से, 100 मी

2. 20 m/s, 150 m / 20 मी/से, 150 मी

3. 25 m/s, 100 m / 25 मी/से, 100 मी

4. 25 m/s, 150 m / 25 मी/से, 150 मी

Correct Answer :­

20 m/s, 100 m / 20 मी/से, 100 मी

If MEAT is coded ZRNG, then how is TEAM coded? / यिद MEAT  को ZRNG से कोिडत िकया जाता है,
तो TEAM को कैसे कोिडत िकया जायेगा?

1. GRNZ
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2. ZNRG

3. GNRZ

4. GNNZ

Correct Answer :­

GRNZ

1. 46

2. 56

3. 36

4. 66

Correct Answer :­

56

Following are the ages (in years) of 10 members of a family: 5, 65, 70, 45, 40, 35, 30, 15, 10, and
15. Find the mean age in years. / एक पδरवार के 10 सदּקो ंकी उ▐ (वष╗ म┼) िनђिलεखत है: 5, 65, 70, 45,
40, 35, 30, 15, 10 और 15. वष╗ म┼, माЄ उ▐ ŵात कर┼ ।

1. 40

2. 36

3. 33

4. 42

Correct Answer :­

33

Topic:­ Lab Assistant

Echinoderms get its name from ______. / एकाइनोडम└ या शूलचम┬ को अपना नाम इससे िमलता है
_________।

1. The presence of spines on the body / शरीर पर कांटो ंकी उपεĀथित

2. The presence of ossicles on the body / शरीर पर अεĀथकाओ ंकी उपεĀथित

3. The presence of tube feet / ℮ूब पाद की उपεĀथित

4. The presence of water vascular system / जल संवहन तं╨ की उपεĀथित
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Correct Answer :­

The presence of spines on the body / शरीर पर कांटो ंकी उपεĀथित

The work done in stretching a wire is_______. / तार को खीचंने म┼ िकया गया काय└ _______
है।

1. 1/2 (Force × Elongation) / 1/2 (बल  ×  दीघ└करण)

2. 2x(Stress × Strain) / 2 X (▀ितबल  ×  िवकृित)

3. Stress × Strain / ▀ितबल  ×  िवकृित

4. Stress / Strain / ▀ितबल / िवकृित

Correct Answer :­

1/2 (Force × Elongation) / 1/2 (बल  ×  दीघ└करण)

The cells that are associated with sieve tubes and help in the translocation of food are __________. /
कोिशकाएं, जो चालनी निलयो ंसे संबंिधत ह╒ और भोजन के 𐀆थानांतर म┼ मदद करती ह╒ _________।

1. Companion cells  / सहायक कोिशकाएं

2. Phloem fibres / иोएम तंतु

3. Phloem parenchyma / иोएम पैरेІाइमा

4. Sieve cells / चालनी कोिशकाएं

Correct Answer :­

Companion cells  / सहायक कोिशकाएं

The current in an inductor of inductance 100mH is dropped from 4 A to 0 A.

 The time required to induce 5V across the inductor is_______. / 100 mH ▀ेरकβ के ▀ेरक म┼
धारा 4 एѓीयर से 0 एѓीयर तक िगरती है। ▀ेरकβ के दोनो ंओर 5 V को ▀ेδरत करने म┼ आवפक
समय है _________।

1. 8 s

2. 0.08 s

3. 4 s

4. 1 s

Correct Answer :­

0.08 s

Tincture of iodine is a solution of________. / आयोडीन िटं☼र, _________ का एक िवलयन

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


5)  

6)  

7)  

Tincture of iodine is a solution of________. / आयोडीन िटं☼र, _________ का एक िवलयन
है।

1. 2 to 3% percent solution of iodine in water / जल म┼ आयोडीन का 2 से 3% घोल

2. 3 to 6% percent solution of iodine in alcohol and water / ए№ोहॉल एवं जल म┼ आयोडीन का 3 से
6% घोल

3. 2 to 3% percent solution of iodine in potassium iodide / पोटैिशयम आयोडाइड म┼ आयोडीन का 2 से
3% घोल

4. 2 to 3% percent solution of iodine in alcohol and water / ए№ोहॉल एवं जल म┼ आयोडीन का 2 से
3% घोल

Correct Answer :­

2 to 3% percent solution of iodine in alcohol and water / ए№ोहॉल एवं जल म┼ आयोडीन का 2 से
3% घोल

Identify the oxidant in the reaction between H2O2 and O3 where water and oxygen are
the products formed. / H2O2 एवं O3 के बीच होने वाली अिभि╡या म┼ ऑċीकारक को पहचान┼,
जहाँ उΧाद के ╜प म┼ जल एवं ऑċीजन का िनमा└ण होता है।

1. O3

2. H2O2

3. Both H2O2 and O3 / H2O2 एवं O3 दोनों

4. No oxidation takes place / कोई ऑċीकरण नही ंहोता है।

Correct Answer :­

O3

Which one of the following reagents can be used to distinguish between 2­pentyne and 1­
pentyne? / िनђिलεखत अिभकम└को ंम┼ से िकस का ▀योग 2­पेЉाइन एवं 1­पेЉाइन के मЄ, िवभेदन
के िलए िकया जा सकता है?

1. Br2(aq)

2. NaNH2

3. O2

4. HBr

Correct Answer :­

NaNH2
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Same amount of charges  are given to two capacitors A and B from the sources of emfs
100V and 150V,  respectively, then the ratio of their capacitances is________. / 100 वोֳ एवं
150 वोֳ के िवद्यु त वाहक बलो ंके ּזोतो ंसे ╡मानुसार दो संधाδर╨ो ंA और B को समान मा╨ा म┼
आवेश िदया जाता है। तब उनकी धाδरताओ ंका अनुपात है________।

1. 2:3

2. 3:2

3. 1:3

4. 3:1

Correct Answer :­

3:2

Which one among the following elements has the maximum atomic radius? / िनђिलεखत
तβो ंम┼ से िकसम┼ अिधकतम परमाणु ि╨ǿा होती है?

1. K

2. Ca

3. Na

4. Al

Correct Answer :­

K

Oxidation number of Fe ion  in violet coloured complex  Na4[Fe(CN)5(NO)S]  is
________./ ब╒गनी रंग के सεњ▓ Na4[Fe(CN)5(NO)S]  म┼ Fe आयन की ऑċीकरण संġा है
__________।

1. 0

2. 2

3. 3

4. 4

Correct Answer :­

2
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Troponin and tropomyosin are additional proteins of _________. / ट├ ोपोिनन और ट├ ोपोमायोिसन,
__________ के अितδर♣ ▀ोटीन होते ह╒।

1. Heavy meromyosin / भारी मेरोमायोिसन

2. Myosin filaments / मायोिसन तंतुओं

3. Actin filaments / एε♂न तंतुओं

4. Light meromyosin / हی का मेरोमायोिसन

Correct Answer :­

Actin filaments / एε♂न तंतुओं

What are the food requirements of dairy animals? / डेरी पशुओ ंकी खाϋ आवפकताएं ℓा ह╒?

1. Ca⩝�le require appropriate amount of food to sustain life needs. / पशु को जीवन की ज╜रतो ंको पूरा करने
के िलये भोजन की उिचत मा╨ा की आवפकता होती है।

2. Ca⩝�le are fed with plenty of green grass as well as dried fodder. / पशु को हरी घास एव◌ं सूखा चारा अिधक
मा╨ा म┼ εखलाया जाता है।

3. Ca⩝�le need balanced ra⪜�ons containing all nutrients in propor⪜�onate amount. / पशु को संतुिलत राशन की
आवפकता होती है िजसम┼ समानुपाितक मा╨ा म┼ पोषण हो।

4. Ca⩝�le feed include roughage, which is largely fibre, and concentrates, which are low in fibre but contains
high level of proteins and other nutrients. / पशु पोषण म┼ मोटा चारा िमला होता है, िजसम┼ काफी Ā यादा
फाइबर होता है और कम फाइबर वाले पर क┼ ि╪त करता है लेिकन उसम┼ ▀ोटीन का उŗ ּהर और अР पोषण
होता है।

Correct Answer :­

Ca⩝�le feed include roughage, which is largely fibre, and concentrates, which are low in fibre but contains
high level of proteins and other nutrients. / पशु पोषण म┼ मोटा चारा िमला होता है, िजसम┼ काफी Ā यादा
फाइबर होता है और कम फाइबर वाले पर क┼ ि╪त करता है लेिकन उसम┼ ▀ोटीन का उŗ ּהर और अР पोषण
होता है।

When α ­particles are passed through a thin metal foil, most of them go straight through
the foil because of _______/  α ­ कणो ंको जब धातु की एक पतली पΟी के माЄम से ▀वािहत िकया
जाता है तो इनम┼ से अिधकांशत: सीधे पΟी के पार चली जाती ह╒,  इसका कारण  _______है।

1. The empty space present in atom / परमाणु म┼ उपεĀथत δर♣ Āथान

2. The high speed / उŗ गित

3. Positive charge / धन आवेश

4. Negative charge / ऋण आवेश

Correct Answer :­

The empty space present in atom / परमाणु म┼ उपεĀथत δर♣ Āथान
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14)  

15)  

16)  

17)  

Name the cell organelle which is associated with the elimina⨀on of old and worn out cells. /
कोिशका◌ंग का नाम बताइये, जो पुरानी और āित╣ּה कोिशकाओ ंके समापन से संबंिधत है।

1. Golgi apparatus / गॉֲी उपकरण

2. Nucleus / क┼ ╪क

3. Mitochondria / माइटोकॉिड├ या

4. Lysosomes / लाइसोसोम

Correct Answer :­

Lysosomes / लाइसोसोम

Which of the following will react with NaOH to form methanol? / मेथेनॉल का िनमा└ण
करने के िलए, िनђिलεखत म┼ से कौन NaOH के साथ अिभि╡या करेगा?

1. (CH3)4S+I­

2. (CH3)4N+I­

3. (CH3)3CCl

4. (CH3)3 COH

Correct Answer :­

(CH3)4N+I­

The energy equivalent of 1 kilogram of mass is_____________. / 1 िकलो╣ाम ╪יमान की
तुׂमान ऊजा└ है ______।

1. 9×1016  J

2. 8×1016  J

3. 9×1032 J

4. 3×108 J

Correct Answer :­

9×1016  J

P and  As exist as tetra atomic molecules. Which of the statements is correct about the
molecules? / P एवं As,  टेट├ ा परमाणु अणुओ ंके ╜प म┼ िवϋमान होते ह╒। इन अणुओ ंके िवषय म┼
िनђिलεखत म┼ से कौन सा तι सέ है?

Molecular volume of phosphorous is higher than that of arsenic. / फाּסोरस का आεΕक
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18)  

19)  

1. Molecular volume of phosphorous is higher than that of arsenic. / फाּסोरस का आεΕक
पδरमाण, आस═िनक की अपेāा अिधक होता है।

2. Molecular volume of arsenic is higher than that of  phosphorous. / आस═िनक का आεΕक पδरमाण,
फाּסोरस की अपेāा अिधक होता है।

3. Melting point of phosphorous is more than that of arsenic. / फाּסोरस का गलन िबंदु, आस═िनक की
अपेāा अिधक होता है।

4. Vander Waal’s forces  in arsenic is weaker than in phosphorous. / आस═िनक म┼ वानडेर वाה बल,
फाּסोरस की अपेāा कमजोर होता है।

Correct Answer :­

Molecular volume of phosphorous is higher than that of arsenic. / फाּסोरस का आεΕक
पδरमाण, आस═िनक की अपेāा अिधक होता है।

Which of the characteristics of a liquid will be required for determining its cryoscopic
constant as a solvent? / इनम┼ से ╪व का कौन गुण, एक िवलायक के ╜प म┼ इसके िहमांकिमतीय
ε𐀆थरांक का िनधा└रण करने के िलए आवפक होगा?

1. Freezing point , enthalpy of fusion, molar mass / िहमांक, सεњ▓ण की पूण└ ऊעा, अणु भार

2. Freezing point , enthalpy of vaporisation, molar mass / िहमांक, वा�ीकरण की पूण└ ऊעा, अणु भार

3. Boiling point , enthalpy of vaporisation, density / ▫थनांक, वा�ीकरण की पूण└ ऊעा, घनβ

4. Freezing point , enthalpy of fusion, density / िहमांक, सεњ▓ण की पूण└ ऊעा, घनβ

Correct Answer :­

Freezing point , enthalpy of fusion, molar mass / िहमांक, सεњ▓ण की पूण└ ऊעा, अणु भार

Which of the following is not true for the resonance structures of CO3
2─ ? / अनुनादी

संरचनाओ ंCO3
2─ के िवषय म┼ िनђिलεखत म┼ से कौन सέ नही ंहै?

1. The canonical forms have same arrangement of atoms. / िविहत ╜प म┼ परमाणुओ ंकी समान
वĀथा होती है।י

2. The contributing structures have different numbers of paired and unpaired electrons. / अंशदायी
संरचना म┼ युεĵत एवं अयुεĵत इले♂├ ॉनो ंकी िविभК संġाएँ होती ह╒।

3. The contributing structures have nearly the same energy. / अंशदायी संरचना म┼ लगभग समान ऊजा└
होती है।

4. The canonical forms have negative charge on electronegative element and positive charge on
electropositive element. / िविहत ╜प म┼ ऋणिवद्यु त् तβो ंपर ऋणाΫक आवेश एवं धनिवद्यु त् तβों
पर धनाΫक आवेश होता है।

Correct Answer :­
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20)  

21)  

22)  

The contributing structures have different numbers of paired and unpaired electrons. / अंशदायी
संरचना म┼ युεĵत एवं अयुεĵत इले♂├ ॉनो ंकी िविभК संġाएँ होती ह╒।

Which of the following are true for an element? / िनђिलεखत म┼ से कौन­कौन से तι, एक
तβ के िवषय म┼ सέ ह╒?

(i) Number of protons of an atom determines its atomic number. / परमाणु म┼ ▀ोटॉनो ंकी संġा
ही इसकी परमाणु संġा को िनधा└δरत करती है।

(ii) Mass of an atom resides in its orbits. / परमाणु का ╪יमान, इसकी कāा म┼ होता है।

(iii) Protons and electrons make the nucleons. / ▀ोटॉन एवं इले♂├ ॉन, Рूε□ऑन का िनमा└ण
करते ह╒।

(iv) Elements can be defined by the number of protons they possess. / तβो ंको उनम┼ उपε𐀆थत
▀ोटॉनो ंकी संġा से पδरभािषत िकया जा सकता है।

1. (i) and (iii) / (i) एवं (iii)

2. (ii) and (iii) / (ii) एवं (iii)

3. (i)  and (iv) / (i)  एवं (iv)

4. (ii) and (iv) / (ii) एवं (iv)

Correct Answer :­

(i)  and (iv) / (i)  एवं (iv)

Which  connective  tissue  is found  between  the  skin  and  the  muscles? / βचा और पेिशयो ंके बीच
कौन सा संयोजी ऊतक पाया जाता है?

1. Adipose / वसायु♣

2. Plasma / چ लाĀ मा

3. Car⪜�lage / उपाεĀथ

4. Areolar / एδरयोलर

Correct Answer :­

Areolar / एδरयोलर

The flesh of the pear fruit contains hard granules called ________. / नाशपाती फल के गूदे म┼, कठोर
किणकाएं होती ह╒ जो कहलाती ह╒ ________।

1. Parenchyma / पैरेІाइमा

2. Sclerenchyma / ۴ढ़ोतक

3. Suberin / सुबेδरन

Sclereids / लेरेड्स या ۴ढ़ कोिशकाאַे
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23)  

24)  

25)  

4. Sclereids / ेַאलेरेड्स या ۴ढ़ कोिशका

Correct Answer :­

Sclereids / ेַאलेरेड्स या ۴ढ़ कोिशका

Name the phylum in which the animals are truly marine and have an exoskeleton made up of
calcium carbonate. They have a water driven system used for movement. / उस संघ का नाम बताइए
िजसम┼ जंतु वाּהव म┼ समु╪ी ह╒ और इनम┼ कैεیशयम काब╕नेट का बना ╟आ बिह:कंकाल होता है। इनम┼ गित
के िलये ▀योग की जाने वाली जल चिलत ▀णाली होती है।

1. Mollusca / मोलַאा

2. Arthropoda / आ╩╕पोडा

3. Annelida / ऐनेिलडा

4. Echinodermata / एकाइनोडम═टा

Correct Answer :­

Echinodermata / एकाइनोडम═टा

During each cycle of blood circulation in mammals, blood flows through the heart
नधाδरयो ंम┼ र♣ पδरसंचरण के ▀έेक च╡ के दौरान, र♣, ╞दय के माЄम से बहता हैהּ / .______
__________।

1. Only once / केवल एक बार

2. Thrice / तीन बार

3. Four times / चार बार

4. Twice / दो बार

Correct Answer :­

Twice / दो बार

The resonant frequency of  a series LCR  circuit, having L=12H,  C=3F and R=10 ohms
is_____. / एक ▓ेणी LCR (▀ेरक, ▀ितरोध और संधाδर╨) पδरपथ, िजसम┼ L=12H  C=3F और R=10
ohms है।  इसकी अनुनादी आवृिΟ है _________।

1. 

2. 
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26)  

27)  

28)  

3. 

4. 

Correct Answer :­

Gypsum on heating to a temperature above 120°C gives______. / 120°C  से अिधक
तापमान पर गम└ करने से िजбम, ____ देता है।

1. CaO + SO3

2. CaSO4× ½ H2O

3. CaSO4×2H2O

4. CaSO4

Correct Answer :­

CaSO4

Which of the following particles will not be deflected when subjected to an external
magnetic field? / िनђिलεखत कणो ंम┼ से कौन एक बाहरी चंुबकीय āे╨ के अधीन होने पर िवāेिपत
नही ंहोगा?

1. Proton / ▀ोटॉन

2. Positron / पॉिज़ट├ ान

3. Photon / फोटॉन

4. Deuteron / ΅ूटेरॉन

Correct Answer :­

Photon / फोटॉन

What is the meaning of Tetrapoda? / चतु韧�ाद  का अथ└ ℓा है?

1. Four fins / चार पंख

2. Four  pentadactyl limbs / चार प┼टाडै♂ाइल पाद

3. Four chambers for heart / ▲दय के चार कā

Four gill slits / चार गलफड़े εּרट्स
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29)  

30)  

31)  

4. Four gill slits / चार गलफड़े εּרट्स

Correct Answer :­

Four  pentadactyl limbs / चार प┼टाडै♂ाइल पाद

The cell constant of a conductivity cell with electrodes of dimension 0.5 cm × 0.5 cm and
separation of 0.5 cm is______. / 0.5 सेमी × 0.5 सेमी आयाम एवं 0.5 सेमी पृथकन वाले इलेक् ट├ ोड
िनिहत एक चालकता सेल का सेल­ε𐀆थरांक है _______।

1. 0.2 cm2 / 0.2 सेमी2

2. 5.0 cm / 5.0 सेमी

3. 2.0 cm­1 / 2.0 सेमी­1

4. 2.0 cm2 / 2.0 सेमी2

Correct Answer :­

2.0 cm­1 / 2.0 सेमी­1

The most important cause of biological magnification is the accumulation of _________ at various
trophic levels. / जैिवक आवध└न का सबसे महβपूण└ कारण, िविभК पौिױकता ּהर पर  _________ संचय है।

1. Plastics / Юाεּדक

2. Kitchen  waste / रसोई का कचरा

3. DDT / डीडीटी

4. Industrial waste / औϋोिगक अपिशױ

Correct Answer :­

DDT / डीडीटी

Heart is made up of _________. / ╞दय_________ इससे बना होता है।

1. Connec⪜�ve ⪜�ssue / संयोजी ऊतक

2. Muscular ⪜�ssue / पेशीय ऊतक

3. Nervous ⪜�ssue / तंि╨का ऊतक

4. None of the above / उपयु└♣ म┼ से कोई नही ं

Correct Answer :­

Muscular ⪜�ssue / पेशीय ऊतक

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


32)  

33)  

34)  

35)  

Suppose α is the degree of dissociation for the decomposition of HI which has attained
equilibrium. Starting with 4 moles of HI, what would be the total number of moles of
reactant and products at equilibrium? / मान लीिजए िक HI, िजसने साћाव𐀆था को ▀ाЧ कर
िलया है, के अपघटन के िलए िवयोजन की मा╨ा α है। साћाव𐀆था म┼ अिभकारको ंएवं उΧादो ंके ╣ाम
अणुओ ंकी कुल संġा ℓा होगी?

1. 2 + 2α

2. 2

3. 2 + α

4. 4

Correct Answer :­

4

Name the living element of xylem. / जाइलम के सजीव तβ का नाम बताइये।

1. Tracheids / ट├ ै िशड्स

2. Vessels / वािहकाएं

3. Xylem parenchyma / जाइलम मृदूतक

4. Xylem fibers / जाइलम तंतु

Correct Answer :­

Xylem parenchyma / जाइलम मृदूतक

Identify the change that occurs when calcium oxide reacts with water. / जब कैεیशयम
ऑċाइड, जल के साथ अिभि╡या करता है तब कौन सा पδरवत└न घिटत होता है, पहचान┼।

1. Colour change of the product / उΧाद का रंग पδरवत└न

2. Evolution of heat / ऊעा का िवकास

3. Formation of white precipitate / सफेद अवāेप का िनमा└ण

4. Absorption of heat / ऊעा का अवशोषण

Correct Answer :­

Evolution of heat / ऊעा का िवकास

What is the mass of a substance required to prepare 20% (by mass) solution in 100 g
water? / 100 ╣ाम जल म┼ 20%(╪יमान ύारा) िवलयन तैयार करने के िलए आवפक ▀दाथ└ का
?मान ℓा हैי╪

1. 40 g / 40 ╣ाम
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2. 15 g / 15 ╣ाम

3. 10 g / 10 ╣ाम

4. 25 g / 25 ╣ाम

Correct Answer :­

25 g / 25 ╣ाम

A train A travels from west to east at 60 km/h, another train B travels from east to west
at 50 km/h. The relative velocity of B with  respect of A is______. / एक रेल A पिמम से पूव└ की
ओर 60 िकमी/घंटे से चलती है, एक अР रेल B पूव└ से पिמम को 50 िकमी/घंटे की गित से चलती है। A
के सापेā B का आवेिāक वेग होगा_______।

1. 10 km/h

2. ­10 km/h

3. ­110km/h

4. 110 km/h

Correct Answer :­

­10 km/h

Root­mean square speed of the molecules of an enclosed gas is V. What will be the root
mean square speed if the pressure is doubled, the temperature remaining the same? / पδरबο
गैस के अणुओ ंकी वग└ माЄ मूल गित V है। यिद दाब दुगना है और तापमान समान है तो वग└ माЄ
मूल गित ℓा होगी?

1. v/2

2. v

3. 2v

4. 4v

Correct Answer :­

v

Receptors are present in _________. / ╣ाही  _________ म┼ मौजूद होते ह╒।

1. Skin only / िसफ└  βचा

2. Ears only / िसफ└  कान

3. Eyes only/ िसफ└  आंख┼

All of the above / उपयु└♣ सभी
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4. All of the above / उपयु└♣ सभी

Correct Answer :­

All of the above / उपयु└♣ सभी

Huygen’s wave theory of light cannot explain_______. / हय्ू जेन का ▀काश का तरंग
िसοांत, ______ को नही ंविण└त कर सकता है।

1. Reflection / परावत└न

2. Diffraction / िववत└न

3. Photoelectric Effect / ▀काश िवद्यु त ▀भाव

4. Polarisation /  ╫ुवीकरण

Correct Answer :­

Photoelectric Effect / ▀काश िवद्यु त ▀भाव

Identify the species formed by coal gasification reaction. / कोयला गैसीकरण अिभि╡या
ύारा िनिम└त होने वाले जाित की पहचान कर┼।

1. Ozone / ओजोन

2. Hydrogen peroxide / हाइड├ ोजन पैरॉċाइड

3. Water gas / जल गैस

4. Producer gas / ▀ो΅ूसर गैस

Correct Answer :­

Water gas / जल गैस

What would be the value of room temperature (298 K) on the Fahrenheit scale? /
फारेनहाइट ताप╡म पर सामाР ताप/कā तापमान (298 K) का मान ℓा होगा?

1. 50° F

2. 77° F

3. 98° F

4. 22° F

Correct Answer :­

77° F
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If 90 g of water is electrolyzed completely with 100% current efficiency, than________. /
यिद 90 ╣ाम जल को 100% धारा दāता के साथ पूण└ ╜प से िवद्यु त् अपघिटत िकया गया
तो________।

1. 10 Faraday of electricity will be consumed / िवद्यु त् का 10 फैराडे, उपभुक् त होगा।

2. 20 Faraday of electricity will be consumed / िवद्यु त् का 20 फैराडे, उपभुक् त होगा।

3. 2 Faraday of electricity will be consumed / िवद्यु त् का 2 फैराडे, उपभुक् त होगा।

4. 4 Faraday of electricity will be consumed / िवद्यु त् का 4 फैराडे, उपभुक् त होगा।

Correct Answer :­

10 Faraday of electricity will be consumed / िवद्यु त् का 10 फैराडे, उपभुक् त होगा।

Male hormones are secreted by ______. / नर हाम╕न, ______ ύारा ▬ािवत िकये जाते है◌ं।

1. Cells of sertoli / सट╕ली की कोिशकाओं

2. Spermatogonia / शु╡ाणुजन

3. Cells of Leydig / लेिडग की कोिशकाय┼

4. Seminiferous tubule / शु╡जनक निलका

Correct Answer :­

Cells of Leydig / लेिडग की कोिशकाय┼

Y g of CaCO3 on decomposition yielded 0.96 g of carbon dioxide and 1.48 g of quicklime.
What is the mass of Y? / Y ╣ाम CaCO3, अपघिटत होने पर 1.48 ╣ाम िबनाबुझा चूना एवं 0.96 ╣ाम
काब└न डाईऑċाइड देता है। Y का ╪יमान ℓा है?

1. 10.0g / 10.0 ╣ाम

2. 5.5 g / 5.5 ╣ाम

3. 2.44 g / 2.44 ╣ाम

4. 4.88 g / 4.88 ╣ाम

Correct Answer :­

2.44 g / 2.44 ╣ाम

Which of the following is not easily hydrolysed? / िनђिलεखत म┼ से कौन आसानी से जल­
अपघिटत नही ंहोता है?

1. PF3
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2. NF3

3. SbF3

4. AsF3

Correct Answer :­

NF3

Identify the ionization process in which the stability of the ion formed is greater than the
molecule from which it is obtained. / उस आयनन ▀╡म को पहचान┼, िजसम┼ िनिम└त आयन का
𐀆थाियβ, उस अणु से अिधक होता है िजससे उसे ▀ाЧ िकया गया है।

1. H2 → H2+

2. N2 → N2+

3. O2 → O2+

4. C2 → C2+

Correct Answer :­

O2 → O2+

One of the following, mentioned below, is not a contraceptive measure. Identify the same.
/ नीचे उे׃εखत म┼ से एक, गभ└िनरोधक उपाय नही ंहै। उसे पहचान┼।

1. Use of condoms / कंडोम के उपयोग

2. Medical termination of pregnancy / गभा└वĀथा का िचिकत् सीय समापन या गभ└पात

3. Use of Copper T / कॉपर का उपयोग

4. Use of oral contraceptive pills / मौεखक गभ└िनरोधक गोिलयो ंका ▀योग

Correct Answer :­

Medical termination of pregnancy / गभा└वĀथा का िचिकत् सीय समापन या गभ└पात

How can the milk produc⨀on of cows be increased? / गायो ंका दुĩ उΧादन कैसे बढ़ाया जा सकता
है?

1. By increasing the lacta⪜�on period / दुĩपायन काल को बढ़ाते ╟ए

2. By giving proper requirement of food / भोजन की उिचत आवЀ� यकता को पूरा करते ╟ए

3. By vaccina⪜�ng the animals / जानवरो ंको टीका लगाकर

By increasing the resistance to disease / रोगो ंकी ▀ितरोधक āमता को बढ़ाकर
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4. By increasing the resistance to disease / रोगो ंकी ▀ितरोधक āमता को बढ़ाकर

Correct Answer :­

By increasing the lacta⪜�on period / दुĩपायन काल को बढ़ाते ╟ए

‘Plants and animals are made up of cells’ was stated by _______. / ‘पौधे और पशु,
कोिशकाओ ंसे बने होते ह╒’ यह इनके ύारा कहा गया था ________।

1. Leeuwenhoek / ׂूवेФॉक

2. Robert Brown / रॉबट└ █ाउन

3. Purkinje / पुरिकंजे

4. Schleiden and Schwann / ּרीडन और ּתान

Correct Answer :­

Schleiden and Schwann / ּרीडन और ּתान

Which of the following elements will form an acidic oxide? / िनђिलεखत म┼ से कौन सा तβ
एक अќीय ऑċाइड का िनमा└ण करेगा?

1. Element with atomic no. 12 / परमाणु सं० 12 वाला तβ

2. Element with atomic no. 11 / परमाणु सं० 11 वाला तβ

3. Element with atomic no. 16 / परमाणु सं० 16 वाला तβ

4. Element with atomic no. 19 / परमाणु सं० 19 वाला तβ

Correct Answer :­

Element with atomic no. 16 / परमाणु सं० 16 वाला तβ

The wavelength of an electron moving with a velocity of 500km/s is____________. / 500
िकमी/सेकΏ के वेग से गितशील इले♂├ ॉन की तरंग दैŊ└ है ___________।

1. 1.45nm

2. 0.50nm

3. 2.90nm

4. 3.00nm

Correct Answer :­

1.45nm

Pick out the INCORRECT statement about inertia. / जड़β के बारे म┼ गलत कथन को चुन┼।
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Pick out the INCORRECT statement about inertia. / जड़β के बारे म┼ गलत कथन को चुन┼।

1. Inertia is the property of a body to be at rest. / िव▓ाम म┼ िनकाय का जड़β एक गुणधम└ है।

2. Inertia is the property of a body to be in motion. /  गित म┼ िनकाय का जड़β एक गुणधम└ है।

3. Inertia is the property of a body to be moving in one direction. / एक िदशा म┼ गित होने पर िनकाय
का जड़β गुणधम└ है।

4. Inertia is measured in kilo grams. / जड़β को िकलो╣ाम म┼ मापा जाता है।

Correct Answer :­

Inertia is measured in kilo grams. / जड़β को िकलो╣ाम म┼ मापा जाता है।

How to incorporate desirable characters into crop varie⨀es? / फसल की िकּפो ंम┼ वांछनीय लāण
कैसे लाय┼?

1. By using organic manure / जैव खाद का ▀योग करके

2. Use of fer⪜�lizers / उव└रको ंके ▀योग से

3. Shorten maturity dura⪜�on / पδरप▫ता अविध कम कर┼

4. By hybridiza⪜�on / संकरण के ύारा

Correct Answer :­

By hybridiza⪜�on / संकरण के ύारा

The dimensions of magnetic field are__________. / चुѕकीय āे╨ की िवमाय┼
___________ह╒।

1. MT­2A­1

2. MT2A­1

3. M2TA­1

4. MTA

Correct Answer :­

MT­2A­1

A basketball player developed the skill of basketing the ball due to constant practice.
Hence, it called an acquired trait. Which one of the features about the acquired trait is
incorrect? / एक बाेַאटबॉल εखलाड़ी ने लगातार अэास के कारण बाेַאिटंग के कौशल को
िवकिसत कर िलया। इसिलए, इसे एक अिध╣हीत िवशेषता कहा जाता है। अिध╣हीत िवशेषता के
बारे म┼ िनђ म┼ से कौन सा लāण गलत है?

It dies with the death of the individual. / यह ε♣कीי मौत के साथ मर जाता है।
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1. It dies with the death of the individual. / यह יε♣ की मौत के साथ मर जाता है।

2. It is inherited from the parents. / यह माता­िपता से िवरासत म┼ िमला है।

3. It is not transferred to the next generation. / यह अगली पीढ़ी को हּהांतδरत नही ंिकया गया है।

4. It is developed during the life time of the individual. / यह יε♣ के जीवन के समय के दौरान
िवकिसत िकया जाता है।

Correct Answer :­

It is inherited from the parents. / यह माता­िपता से िवरासत म┼ िमला है।

In young’s slit experiment, the path difference for 480 nm light from the two slits at a
point where the phase angle is 60° is_________. / यंग के εּרट ▀योग म┼, दो εּרटो ंसे 480 nm
▀काश के िलए उस िबپदु पर, जहाँ कला­कोण 600 है तो पथांतर होगा _________।

1. 80 nm

2. 2880 nm

3. 40 nm

4. 400 nm

Correct Answer :­

80 nm

The organism whose mode of reproduction is binary fission and causes kala azar is _______. / जीव,
िजसका ▀जनन मोड िύखंडन है और िजसके कारण कालाजार होता है________।

1. Amoeba / अमीबा

2. Leishmania / लीशमैिनया

3. Plasmodium / ЮाǾोिडयम

4. Euglena / यूĸीना

Correct Answer :­

Leishmania / लीशमैिनया

Water and mineral uptake by root hairs from the soil through apoplast until it reaches
endodermis because______. / मृदा से मूल रोम ύारा ऊपर िलये गये जल और खिनज अंतּטचा तक प╟ँचने
तक अपलवक ύारा ले िलये जाते ह╒ ℓोिंक ________.

1. Casparian strips in endodermis are suberized / अंतּטचा म┼ कैेּמरी पि‛याँ सुबेδरनमय होती ह╒।

2. The symplast system can pass through plasmodesmata / संलवक तं╨ Юाज़मोडेּפाटा से गुजर सकता है।

The cortical cells are loosely packed / व№ुटी कोिशकाएं िवरल संकुिलत होती ह╒।
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3. The cortical cells are loosely packed / व№ुटी कोिशकाएं िवरल संकुिलत होती ह╒।

4. Endodermis cells are tightly packed / अंतּטचा कोिशकाएं, ۴ढ़ता से संकुिलत होती ह╒।

Correct Answer :­

Casparian strips in endodermis are suberized / अंतּטचा म┼ कैेּמरी पि‛याँ सुबेδरनमय होती ह╒।

The correct relation between specific heat of gas at constant pressure and constant
volume is_______./ ε𐀆थर दाब और ε𐀆थर आयतन पर गैस की िविशױ ऊעा के बीच सही संबंध
है__________।

1. Cp + Cv = R/J

2. Cv ­ Cp = R/J

3. Cp = Cv ­ R/J

4. Cp ­ Cv = R/J

Correct Answer :­

Cp ­ Cv = R/J

Which one of following is the biggest constraint of plant breeding? / िनђ म┼ से कौन सा एक पादप
▀जनन का सबसे बढ़ा יवरोध है?

1. Availability of desirable germplasm / वांछनीय जम└ЮाǾ की उपलпता

2. Transfer of genes from unrelated source / असंबंिधत ▬ोत से जीनो ंका Āथानांतरण

3. Infrastructure and new technology / अवसंरचना और नई तकनीक

4. None of the above / उपयु└♣ म┼ से कोई नही ं

Correct Answer :­

Transfer of genes from unrelated source / असंबंिधत ▬ोत से जीनो ंका Āथानांतरण

The unit capacitance of a capacitor is _______. / एक संधाδर╨ की धाδरता की इकाई
_______ है।

1. C/V­2

2. Cm

3. C/V

4. C2/V

Correct Answer :­
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C/V

When light passes from air to glass, then______.  / जब ▀काश वायु से काँच की ओर जाता है
तो, _________।

1. Wavelength increases / तरंग दैŊ└ बढ़ती है

2. Frequency decreases / आवृित घटती है

3. Wavelength decreases / तरंग दैŊ└ घटती है

4. Velocity remains constant / वेग εĀथर रहता है

Correct Answer :­

Wavelength decreases / तरंग दैŊ└ घटती है

In Ellingham diagram, the variation of ΔGͦ  with T is constant for_______. / एिलंघम
आरेख म┼, T के साथ ΔGͦ  का िवचरण _________ के िलए ε𐀆थर होती है।

1. Formation of CO from C / C से CO का िनमा└ण

2. Formation of CO2 from CO / CO से CO2 का िनमा└ण

3. Formation of C from CO / CO से C का िनमा└ण

4. Formation of CO2 from C / C से CO2 का िनमा└ण

Correct Answer :­

Formation of CO2 from C / C से CO2 का िनमा└ण

A solution of 1 mol of glucose in 24 mol of water  vaporizes at ____________,  if the
vapour pressure of  pure water is 50mmHg. / जल के 24 ╣ामअणु म┼ ĸूकोज के 1 ╣ामअणु का
िवलयन __________ पर वा韧�ीकृत होता है, यिद शुο जल के वा韧� का दबाव 50mmHg है।

1. 48mmHg

2. 24mmHg

3. 16mmHg

4. 46mmHg

Correct Answer :­

48mmHg
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The hormone that is present in greater concentrations in fruits and seeds is ________.  /
हाम╕न जो िक फलो ंऔर बीजो ंम┼ अिधक मा╨ा म┼ मौजूद होता है, __________है।

1. Auxin / ऑεċन

2. Cytokinin / साइटोिकिनन

3. Gibberellin / िगबरेिलन

4. ABA / एबीए

Correct Answer :­

Cytokinin / साइटोिकिनन

Which of the following is conserved when the light waves interfere? / जब ▀काश तरंग┼
?ितकरण करती ह╒ तो िनђ म┼ से ℓा संरिāत रहता हैי

1. Intensity / ती▒ता

2. Energy / ऊजा└

3. Amplitude / आयाम

4. Momentum / संवेग

Correct Answer :­

Energy / ऊजा└

Name the  chemical compound which forms a white precipitate in the  following
equation. / उस रासायिनक यौिगक का नाम बताएँ जो िनђिलεखत समीकरण म┼ एक सफेद अवāेप
का िनमा└ण करती है।

Pb(NO3)2  +  Na2SO4    PbSO4  +  2NaNO3

1. Pb(NO3)2

2. PbSO4

3. Na2SO4

4. NaNO3

Correct Answer :­

PbSO4

Name the phylum to which Sycon and Euplectella belongs to: / संघ का नाम बताइये, िजससे साइकॉन
और यूЮे♂ेला संबंिधत होते ह╒:  

Porifera / पोδरफेरा
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1. Porifera / पोδरफेरा

2. Coelenterata / सीलेЉरेटा

3. Platyhelminthes / ЮेटीहेεׁАीज

4. Mollusca / मोलַאा

Correct Answer :­

Porifera / पोδरफेरा

How do an⨀bio⨀cs react? / एंटीबायोिटक कैसे ▀िति╡या करती ह╒?

1. An⪜�bio⪜�cs block biochemical pathways. / एंटीबायोिटक, जैव रासायिनक माग└ को बंद कर देती है।

2. Bacteria have their own biochemical pathways. / बै♂ीδरया के अपने ּתयं के जैव रासायिनक माग└ होते ह╒।

3. An⪜�bio⪜�cs kill the disease causing bacteria. / एंटीबायोिटक, बै♂ीδरया से होने वाले रोग को समाЧ कर देती
ह╒।

4. An⪜�bio⪜�cs block the bacterial process that builds the cell wall. / एंटीबायोिटक, बै♂ीδरया की कोिशका
िभिΟ बनाने वाली ▀ि╡या को बािधत कर देती है।

Correct Answer :­

An⪜�bio⪜�cs block the bacterial process that builds the cell wall. / एंटीबायोिटक, बै♂ीδरया की कोिशका
िभिΟ बनाने वाली ▀ि╡या को बािधत कर देती है।

A transition metal ion in a complex  acts as__________. / सεњ▓ म┼ सं╡मण धातु _______
के ╜प म┼ काय└ करते ह╒।

1. A Lewis base / एक लूइस āारक

2. A Lewis acid / एक लूइस अќ

3. An oxidizing agent / एक ऑċीकरण एज┼ट

4. A cation / एक धनायन

Correct Answer :­

A Lewis acid / एक लूइस अќ

How many boron atoms are present in borazine which is known as inorganic benzene? /
बोरैज़ीन म┼ िकतने बोरॉन परमाणु उपε𐀆थत होते ह╒, िजसे अकाब└िनक ब┼जीन के नाम से भी जाना
जाता है?

1. 3

2. 2

3. 6
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4. 4

Correct Answer :­

3

Choose the correct chemical formula. /  सही रासायिनक सू╨ का चयन कर┼।

1. Na SO4

2. Al (CO)3

3. Al2(CrO4)3

4. NH2 Cl

Correct Answer :­

Al2(CrO4)3

Which of the following is a free living bacteria that can fix atmospheric nitrogen? / िनђ म┼ से
मु♣ रहने वाला बै♂ीδरया कौन सा है जो वायुमंडलीय नाइट├ ोजन को ε𐀆थर कर सकता है?

1. Azospirillum / एज़ोּמाइδरलम

2. Spirulina / ּמाइħलाइना

3. Rhizobium / राइजोिबयम

4. Nitrosomonas / नाइट├ ोसोमोनास

Correct Answer :­

Azospirillum / एज़ोּמाइδरलम

In flowering plants, the male gametes just before double fertilization is formed from_______. /
पु韧�ी पादपो ंम┼, नर युĵक, िύ­िनषेचन से तुरंत पहले इससे बनते ह╒ _________।

1. Vegetative cells of pollen / पराग की वनּמित कोिशकाओं

2. Microspore mother cells of anthers / पराग कोष की लघुबीजाणु जनक कोिशकाओं

3. Generative cell of pollen / पराग की ▀जनक कोिशकाओं

4. Microspores / लघुबीजाणु

Correct Answer :­

Generative cell of pollen / पराग की ▀जनक कोिशकाओं

Which one of the following process is common to fermentation process and aerobic respiration?
/ िनђ म┼ से कौन सी ▀ि╡या िकΕन ▀ि╡या और ऑċीय קसन म┼ समान होती है?
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1. Citric acid cycle / िसिट├ क अќ च╡

2. Oxidative phosphorylation / ऑċीकरणी फाּסोरीलेशन

3. Glycolysis / ĸाइकोिलिसस

4. ETS / इटीएस

Correct Answer :­

Glycolysis / ĸाइकोिलिसस
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